

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

OMB No 1545-0052 2014

Department of the Treasury Internal Revenue Service

▶ Do not enter social security numbers on this form as it may be made public. ▶ Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf. Open to Public Inspection

For	calen	dar year 2014 or tax year beginning		, 2014	4, and	ending		, 20
Na	me of for	undation		-			r identification number	er
РJ	AND M	ARY ZONDERVAN FOUNDATION					38-2411884	
		d street (or P O box number if mail is not delivered to street address)		Room	/suite	B Telephon	e number (see instructi	ons)
714	O CAM	INO DEL REY DR NE					616-874-8706	
		n, state or province, country, and ZIP or foreign postal code		·		C If exempt	ion application is pend	
RO	CKFOE	RD, MI 49341					application to politic	ing, check holes
			n of a former	public	charity	D 1. Foreigi	n organizations, check l	here ▶ [
		☐ Final return ☐ Amended			,	•		_
		☐ Address change ☐ Name cha	nge				n organizations meeting here and attach compu	
н	Check	type of organization: Section 501(c)(3) exempt p		ation			foundation status was	
		n 4947(a)(1) nonexempt charitable trust			lation	section 5	07(b)(1)(A), check here	▶[
		arket value of all assets at J Accounting method						
-		year (from Part II, col. (c),	. E Cucii		00,00		ndation is in a 60-mont ction 507(b)(1)(B), checl	
	line 16		on cash hasi	c }			J. J	
_	art I	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						(d) Disbursements
	ai C i	Analysis of Revenue and Expenses (The total of amounts in columns (b), (c), and (d) may not necessarily equal	(a) Revenue expenses p			investment	(c) Adjusted net	for chantable
		the amounts in column (a) (see instructions))	books	JC1	ır	ncome	income	purposes (cash basis only)
		***			·## 36°	18,873,574	>y a	
	1	Contributions, gifts, grants, etc., received (attach schedule)		2 3 2 3 2 3 2 2 2	37 3 - 48 2 2			
	2	Check ▶ ☐ If the foundation is not required to attach Sch B	F 108-2011/2014	W 187	N. W. 20 18	1000 X 100		
	3	Interest on savings and temporary cash investments					-	
	4	Dividends and interest from securities	10	2,378		102,378	102,378	18838888
	5a	Gross rents	-a - : - :	. / 39	7 No. 400-200	.0683 St 57167.c00008	34 9 27	(4.00) \$4.475 (A.7)
	b	Net rental income or (loss)	: (1 () 1) 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 () 1 (/, \$@				
Revenue	6a	Net gain or (loss) from sale of assets not on line 10		1,642)		35	2 4 4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	
e	b	Gross sales price for all assets on line 6a 30,157	## (V) ~ ¥,		5.5.4%	RECEN	
è	7	Capital gain net income (from Part IV, line 2)	\$ \$ 380 g s	1 1			S PREAMER S I C.	6
α	8	Net short-term capital gain			,		MAY 18	2015
	9	Income modifications		1863.				rnia X
	10a	Gross sales less returns and allowances			\$ 25 X	. <u>*\\.\.}</u>		企
	b	Less: Cost of goods sold				73 W W	OGDEN	LUT 🎏
	c	Gross profit or (loss) (attach schedule)			1 X X X			
	11	Other income (attach schedule)						\$\$\ \tau_{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\tint{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\tint{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\tint{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\tin}\tint{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\ti}\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\texit{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\text{\texit{\text{\tex{\text{\text{\text{\text{\text{\text{\text{\text{\text{\ti}\ti}\tint{\text{\text{\text{\texi}\tinz{\text{\texit{\texi}\tinz{\tex{\texit{\texi}\tint{\texit{\texit{\texit{\texit{\texi{\texi{\tex{\texi}\texi{\texi{\texi{\texi{\texi{\texi{\texit{\texi{\ti
	12	Total. Add lines 1 through 11	10	0,736		102,378	102,378	Strong .
G	13	Compensation of officers, directors, trustees, etc.		24,000		19,500	19,500	4,50
Expenses	14	Other employee salaries and wages	<u> </u>					
e	15	Pension plans, employee benefits						
×	16a	Legal fees (attach schedule)						
e E	b	Accounting fees (attach schedule)						
<u>.</u>	С	Other professional fees (attach schedule)						
ā	17	Interest				_		
ist	18	Taxes (attach schedule) (see instructions)		7,116		7,106	7,106	1
⊒ٍ.	19	Depreciation (attach schedule) and depletion				•		23. 39 - 38.
늄	20	Occupancy						
Ž	21	Travel, conferences, and meetings	-	10,076		5,038	5,038	5,03
힏	22	Printing and publications		598	1	598		
a	23	Other expenses (attach schedule)		11,790		32,242	 	1
, <u>Ĕ</u>	24	Total operating and administrative expenses.		11,730	-	JLILTE	JEIEGE	3,34
rat		Add lines 13 through 23						
Operating and Administrativ	25	Contributions, gifts, grants paid	-	207 700	 		* **/	400 70
ō	26	Total expenses and disbursements. Add lines 24 and 25		90,700	·		† · · · · · · · · · · · · · · · · · · ·	190,70
;—		Subtract line 26 from line 12:	2.	32,490	 	32,242	32,242	200,24
Operating and	27				-	, .		1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1
	a	Excess of revenue over expenses and disbursements	(13	1,754)				3 4 " // -/gv 3 ^ *
	b	Net investment income (if negative, enter -0-)			-	70,136		\$78° Q
	C	Adjusted net income (if negative, enter -0-)		,	ł		70,136	7

For Paperwork Reduction Act Notice, see instructions.

Cat No 11289X

Form 990-PF

Da	artal	Attached schedules and amounts in the description column	Beginning of year	E	End o	f year
Γē	IILGI	should be for end-of-year amounts only (See instructions)	(a) Book Value	(b) Book Value	•	(c) Fair Market Value
	1	Cash-non-interest-bearing				
4	2	Savings and temporary cash investments	423,805	324	,607	324,607
	3	Accounts receivable ▶	14.24	·		
		Less: allowance for doubtful accounts ▶				
	4		13.5	1961.3		
		Pledges receivable ►		, <u>372a.5,92.9.1</u> .		
	5	Grants receivable				
	6	Receivables due from officers, directors, trustees, and other			-	
		disqualified persons (attach schedule) (see instructions)				
	7	Other notes and loans receivable (attach schedule) ▶	<i>,</i>	75,		\$1.44 224 5 x
	•					
S	8	Less: allowance for doubtful accounts ► Inventories for sale or use				····
Assets	9	Prepaid expenses and deferred charges				
SS	10a	Investments—U.S. and state government obligations (attach schedule)	10.700		701	0.244
1	l .	Investments—corporate stock (attach schedule)	16,768		,791	9,314
	b	Investments—corporate stock (attach schedule)	2,361,775	2,360		3,975,720
	C		53,649	31 **** (\$\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\frac{1}{2}\	,850	33,068
	11	Investments—land, buildings, and equipment: basis ▶	<u> </u>	289, 185-		
		Less: accumulated depreciation (attach schedule) ▶				
	12	Investments—mortgage loans				
	13	Investments—other (attach schedule)		80.3. Y.C. (200.0) 0 00.00	8 1000 000	V 12 (120 130 130 130 130 130 130 130 130 130 13
	14					
•		Less accumulated depreciation (attach schedule) ▶				
	15	Other assets (describe ►)				
	16	Total assets (to be completed by all filers-see the				
		instructions. Also, see page 1, item l)	2,855,997	2,724	,243	4,342,709
	17	Accounts payable and accrued expenses				
S	18	Grants payable				
Ë	19	Deferred revenue				
Ě	20	Loans from officers, directors, trustees, and other disqualified persons				
Liabilities	21	Mortgages and other notes payable (attach schedule)				
_	22	The second secon				
	23	Other liabilities (describe ►) Total liabilities (add lines 17 through 22)	0		0	
		Foundations that follow SFAS 117, check here				
ë		and complete lines 24 through 26 and lines 30 and 31.				
Balances	24	Unrestricted				
<u>=</u>	25	Temporarily restricted				
	26	Permanently restricted				
nd	-"	Foundations that do not follow SFAS 117, check here ▶ □				13.33
핊		and complete lines 27 through 31.	· ·			
9	27	Capital stock, trust principal, or current funds	2,855,997	2,724	1 2/13	
S	28	Paid-in or capital surplus, or land, bldg., and equipment fund	2,033,997	2,72-	1,273	
Net Assets	29	Retained earnings, accumulated income, endowment, or other funds				
As	30	Total net assets or fund balances (see instructions)	2 055 007	2.724	1 242	
at .	31	Total liabilities and net assets/fund balances (see	2,855,997	2,724	1,243	
ž	31	Instructions)				
D.	ort 111	Analysis of Changes in Net Assets or Fund Balances	2,855,997	2,724	,243	^ " s ' s -
	art III	al net assets or fund balances at beginning of year—Part II, colu		et agree with		
		of year figure reported on prior year's return)			4	
_				l l	1	2,855,997
2		er amount from Part I, line 27a			2	(131,754)
3	3 Othe	er increases not included in line 2 (itemize) ▶			_3_	
4		lines 1, 2, and 3			4	2,724,243
5	Dec	reases not included in line 2 (itemize) ► al net assets or fund balances at end of year (line 4 minus line 5)—			5	
6	i l'ota	al net assets or fund balances at end of year (line 4 minus line 5)—	Part II, column (b), li	ne 30	6_	2,724,243

Part	Capital Gains an	a Losses for Tax on Investi	nent income				
		he kınd(s) of property sold (e g , real estatuse, or common stock, 200 shs. MLC Co		(b) How acquired P—Purchase D—Donation		acquired lay, yr)	(d) Date sold (mo , day, yr)
1a	Veritiv Corp 0.338 Shares	Common Stock		Р	6/16/	2011	7/10/2014
b	San Marcos CA Public Fac	ility Authority \$10,000 Face Value	Bond	D	11/2/	2009	8/1/2014
c	Vectrus Inc 0.445 Shares C	Common Stock	<u> </u>	P	6/16/	2011	10/3/2014
<u>d</u>	CDK Global 0.667Shares C	common Stock	<u>.</u>	P	10/8/	2008	10/7/2014
<u>e</u>	Conoco Philips Corporate	Bond \$20,000 Face Value Bond		D	1/27/	2010	11/25/2014
	(e) Gross sales price	(f) Depreciation allowed (or allowable)		r other basis ense of sale			n or (loss)) minus (g)
a	12			7			5
b	10,000			9,977			23
c	10			7			
d	19			10			9
e	20,116			21,799			(1,683)
	Complete only for assets sh	owing gain in column (h) and owned	by the foundation	on 12/31/69	ŋ) Gains (Col	(h) gain minus
	(i) F M V as of 12/31/69	(j) Adjusted basis as of 12/31/69		s of col (i) (j), if any	col		less than -0-) or rom col (h))
a							
<u>b</u>							
c							
d						·-·	
е			l				
2	Capital gain net income of	nr (net canital loss) 🔞 🐣 🧻	also enter in Pa , enter -0- ın Pa		2		(1,642)
3	If gain, also enter in Part Part I, line 8	un or (loss) as defined in sections t I, line 8, column (c) (see instru	ctions). If (loss)	, enter -0- ın }	3		
Part		der Section 4940(e) for Redurivate foundations subject to the					
Was t	s," the foundation does no	e section 4942 tax on the distribut qualify under section 4940(e). I	Do not complete	this part.			☐ Yes ☐ No
		ount in each column for each ye	ar; see the instri	uctions before ma	aking any	/ entries.	
Cale	(a) Base penod years endar year (or tax year beginning ii	(b) Adjusted qualifying distribution	ns Net value o	(c) of noncharitable-use as	ssets		(d) ribution ratio fivided by col (c))
	2013	17	6,329	3,68	5,418		0478450
	2012	16	2,865	3,24	4,976		0501898
	2011	18	0,838	3,32	6,511		0543627
	2010		2,216	3,01	1,715		0505413
	2009	12	7,351	2,10	1,728		0605935
2	Total of line 1, column (d)			. 2		.2635323
3		for the 5-year base period—div					-
	number of years the four	idation has been in existence if le	ess than 5 years		. 3	 	.0527065
4	Enter the net value of not	ncharitable-use assets for 2014	from Part X, line	5	. 4	_	4,147,613
5	Multiply line 4 by line 3				. 5		218,606
6	Enter 1% of net investme	ent income (1% of Part I, line 27t	o)		6	-	701
7	Add lines 5 and 6				. 7	-	219,307
8		ons from Part XII, line 4			. 8		200,248 % tax rate. See the
	Part VI instructions.	and the state of the search of		-, and complete	puit	g u 1	ian raio. ooo inc

Part	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948—see	instruc	ctions)	Г
1a	Exempt operating foundations described in section 4940(d)(2), check here ▶ ☐ and enter "N/A" on line 1 Date of ruling or determination letter: (attach copy of letter if necessary—see instructions)		. * / : * / ;	, ,
۰ b	Domestic foundations that meet the section 4940(e) requirements in Part V, check	1,	403	
	here ▶ ☐ and enter 1% of Part I, line 27b	## 15.	9	8
С	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).			
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		o	
3	Add lines 1 and 2	1,	403	
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		0	
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0	1,	403	
6	Credits/Payments:		14. 25 Sec.	. X
a	2014 estimated tax payments and 2013 overpayment credited to 2014 6a 6,000			. P
b	Exempt foreign organizations—tax withheld at source 6b	160 1		ń
c	Tax paid with application for extension of time to file (Form 8868) . 6c			~ ;
_d	Backup withholding erroneously withheld	<u> </u>	<u> </u>	أــــا
7	Total credits and payments. Add lines 6a through 6d	6,	000	_
8 9	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed			
10	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed			_
11	Enter the amount of line 10 to be: Credited to 2015 estimated tax 4,597 Refunded 11	4,	597	
	VII-A Statements Regarding Activities			_
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it	12 选 \	res N	_
	participate or intervene in any political campaign?	1a	-+	,
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see	 +		
	Instructions for the definition)?	1b		/
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials	1	## X	ă
	published or distributed by the foundation in connection with the activities.			
С	Did the foundation file Form 1120-POL for this year?	1c		<u> </u>
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:	美 吳國		7
	(1) On the foundation. ► \$ (2) On foundation managers. ► \$			*
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation managers. ▶ \$	l i		Š
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2	7	/
	If "Yes," attach a detailed description of the activities.			
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3	§. ₂ * [®] .	
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a	7	/
b	If "Yes," has it filed a tax return on Form 990-T for this year?	4b	V	7
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5	1	<u> </u>
_	If "Yes," attach the statement required by General Instruction T.			أثبي وحرا
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:	1 Ev. 1		
	 By language in the governing instrument, or By state legislation that effectively amends the governing instrument so that no mandatory directions that 	300		2.4
	conflict with the state law remain in the governing instrument?	324.2		
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV	7	*	
, 8a	Enter the states to which the foundation reports or with which it is registered (see instructions)	200	√ (28 €.	
	Enter the states to which the foundation reports of with which it is registered (see instructions)	[] [1]		
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General			
-	(or designate) of each state as required by General Instruction G? If "No," attach explanation	8b	`_ -	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or		· .	\neg
-	4942(j)(5) for calendar year 2014 or the taxable year beginning in 2014 (see instructions for Part XIV)? If "Yes,"	 		لـــــا
	complete Part XIV	9		,
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their		<u> </u>	
	names and addresses	10	✓	1
				_

Part	VII-A Statements Regarding Activities (continued)			
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		✓
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges? If "Yes," attach statement (see instructions)	12		✓
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application? Website address ▶	13	✓	
14	The books are in care of ▶ Thomas B. Kladder Telephone no. ▶ 61	6-874-	8706	
	Located at ► 7140 Camino Del Rey Dr, Rockford, MI ZIP+4 ► 4	9341-9	463	•
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 —Check here and enter the amount of tax-exempt interest received or accrued during the year 15		I	
16	At any time during calendar year 2014, did the foundation have an interest in or a signature or other authority		Yes	No
	over a bank, securities, or other financial account in a foreign country?	16		✓
	See the instructions for exceptions and filing requirements for FinCEN Form 114, (formerly TD F 90-22.1). If		`	
	"Yes," enter the name of the foreign country ▶	,	<u></u>	3,
Part	VII-B Statements Regarding Activities for Which Form 4720 May Be Required		,	
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.	23.4	Yes	No
1a	During the year did the foundation (either directly or indirectly):		.	3.5
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes Ves (2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a disqualified person?			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? Yes V No		3.	
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? Yes No	100	2	
	(5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)?			20°
	(6) Agree to pay money or property to a government official? (Exception. Check "No" if the foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days.)			
b	If any answer is "Yes" to 1a(1)–(6), did any of the acts fail to qualify under the exceptions described in Regulations	1	, n	
	section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		
	Organizations relying on a current notice regarding disaster assistance check here ▶□	\$.X	1 . 3	
С	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2014?	1c		√
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942(j)(3) or 4942(j)(5)):	7		
а	At the end of tax year 2014, did the foundation have any undistributed income (lines 6d and		10 d	
	6e, Part XIII) for tax year(s) beginning before 2014?			٠, ﴿
	If "Yes," list the years ▶ 20, 20, 20	* ; ·	, ,	[3]
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2)			a :
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to	٠		
	all years listed, answer "No" and attach statement—see instructions.)	2b		✓
C	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here. 20, 20, 20, 20, 20, 20		. ,	
3a	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time during the year?	श्री <i>प</i>	p\$ - 62	
b	If "Yes," did it have excess business holdings in 2014 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the	٠,		
	Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of			
	the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the			` ^
	foundation had excess business holdings in 2014.)	3b		
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		1
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its	- "		
	charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2014?	4b		1

Form 99	0-PF (2014)								Page 6
Part	VII-B Statements Regarding Activities	for W	hich Form	4720	Mav Be R	equire	d (continued)		
	During the year did the foundation pay or incur a						(413	T xil
	(1) Carry on propaganda, or otherwise attempt t	o influe	nce legislatio	on (sect	ion 4945(e))? .	☐ Yes 🗸 No	o 14	
•	(2) Influence the outcome of any specific public		•		•	-			
	directly or indirectly, any voter registration dr						Yes V No	• <u>.</u>	
	(3) Provide a grant to an individual for travel, stu							P	1/4
	(4) Provide a grant to an organization other than section 4945(d)(4)(A)? (see instructions)								100
	(5) Provide for any purpose other than religious,								No.
	purposes, or for the prevention of cruelty to o							, 4 t	. : 🏋
b	If any answer is "Yes" to 5a(1)-(5), did any of the							າ 🔄	3/3 2/4
	Regulations section 53.4945 or in a current notice	-	_		•	uctions)?	5b	
	Organizations relying on a current notice regardi	_					▶□		7,000
С	If the answer is "Yes" to question 5a(4), does t							``` ``	3.25
	because it maintained expenditure responsibility		-				☐ Yes ☐ No)	
6a	If "Yes," attach the statement required by Regula Did the foundation, during the year, receive any					mume			š OŞ
Va	on a personal benefit contract?		-	_			⊤ ∏Yes ☑No		
b	Did the foundation, during the year, pay premium					benefit		6b	
_	If "Yes" to 6b, file Form 8870.	,	ony or mono	ouy, ou	a polociia	501.011	. Commuot	7.4	10 K 2 V 10
7a	At any time during the tax year, was the foundation	a party t	o a prohibite	d tax sho	elter transac	tion?	☐ Yes ☑ No	o	
b	If "Yes," did the foundation receive any proceed							7b	
Par	VIII Information About Officers, Direc	tors, T	rustees, F	ounda	tion Man	agers,	Highly Paid E	mployees	5,
	and Contractors					. 1 :	4:		
	List all officers, directors, trustees, foundation	·	gers and the and the and average		npensation		Contributions to		
	(a) Name and address	hou	rs per week ed to position	(If r	not paid, iter -0-)	emplo	byee benefit plans erred compensation	(e) Expense other allow	
See At	tached Schedule	devole	ou to position	611	10-7	and der	erred compensation	 	-
30071									
							<u> </u>		_
		<u> </u>							
					•				
									_
	Compensation of five highest-paid employed		au 4han 4ha	l incli	ا مماميا			 	
2	"NONE."	es (otn	er man mo	se inci	uaea on II	ne ı—	see instruction	is). If flone	e, enter
							(d) Contributions to		
	(a) Name and address of each employee paid more than \$50,00	00	(b) Title, and hours per	week -	(c) Compe	nsation	employee benefit plans and deferred	(e) Expense	account,
			devoted to p	osition			compensation	Julier allow	. a. 1003
None									
			Ī		1		1	1	

Par	Information About Officers, Directors, Trustees, Foundation and Contractors (continued)	Managers, Highly Paid Em	ployees,
3	Five highest-paid independent contractors for professional services (see ins	tructions). If none, enter "NON	E."
	(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
None			
	Level and other recovery court \$50,000 for professional convices		
lota	I number of others receiving over \$50,000 for professional services		1
Par	t IX-A Summary of Direct Charitable Activities		
	the foundation's four largest direct charitable activities during the tax year. Include relevant statistic ganizations and other beneficianes served, conferences convened, research papers produced, etc.	cal information such as the number of	Expenses
1	See Attached Schedule of Grants		
	Part XV Form 990-PF		
2			
3			
4			
Do	t IX-B Summary of Program-Related Investments (see instruction	c)	
	escribe the two largest program-related investments made by the foundation during the tax year on line		Amount
1	None		
•			
2			
_			
Al	other program-related investments. See instructions		
3			
Tota	II. Add lines 1 through 3	.	

Part	Minimum Investment Return (All domestic foundations must complete this part. Fore see instructions.)	ign foundat	tions,
1	Fair market value of assets not used (or held for use) directly in carrying out chantable, etc.,		
•	purposes:		
а	Average monthly fair market value of securities	1a	4,210,775
b	Average of monthly cash balances	1b	
С	Fair market value of all other assets (see instructions)	1c	
d	Total (add lines 1a, b, and c)	1d	4,210,775
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	
3	Subtract line 2 from line 1d	3	4,210,775
4	Cash deemed held for charitable activities. Enter 1 $\frac{1}{2}$ % of line 3 (for greater amount, see		
	ınstructions)	4	63,162
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	4,147,613
6	Minimum investment return. Enter 5% of line 5	6	207,381
Part	XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating to and certain foreign organizations check here ► □ and do not complete this part.)	foundations	,
1	Minimum investment return from Part X, line 6	1	207,381
2 a	Tax on investment income for 2014 from Part VI, line 5 2a 1,403		
b	Income tax for 2014. (This does not include the tax from Part VI.) 2b		
C	Add lines 2a and 2b	2c	1,403
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	205,978
4	Recoveries of amounts treated as qualifying distributions	4	_
5	Add lines 3 and 4	5	205,978
6	Deduction from distributable amount (see instructions)	6	
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII,	1 1	
	line 1	7	205,978
Part	XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
а	Expenses, contributions, gifts, etc. – total from Part I, column (d), line 26	1a	200,248
b	Program-related investments—total from Part IX-B	1b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,		
	purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
а	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	200,248
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income.		
	Enter 1% of Part I, line 27b (see instructions)	5	
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	200,248
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating qualifies for the section 4940(e) reduction of tax in those years.	ng whether t	he foundation

Part	Undistributed Income (see instruction	ons)			
1	Distributable amount for 2014 from Part XI,	(a) Corpus	(b) Years prior to 2013	(c) 2013	(d) 2014
•	line 7	*.:		£ \$.	205,978
2	Undistributed income, if any, as of the end of 2014:			. 38 A 4 6	・ 必要がご
а	Enter amount for 2013 only				
b	Total for prior years: 20,20,20	1		`	
3	Excess distributions carryover, if any, to 2014:		A A	ile.	
а	From 2009 23,121				
b	From 2010 2,886				
C	From 2011			***	
d	From 2012 3,073		· .		, ,
e	From 2013				, , , , , ,
f	Total of lines 3a through e	44,710		. 440 .	ACT AND
4	Qualifying distributions for 2014 from Part XII,				
	line 4: ▶ \$ 200,248				5,51
а	Applied to 2013, but not more than line 2a .	· ¾ .	-3 &		
b	Applied to undistributed income of prior years				7 1 3 may 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	(Election required—see instructions)	1948		\$ \\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	
С	Treated as distributions out of corpus (Election				
	required—see instructions)	. 1 500			, ', ', ', ', ', ', ', ', ', ', ', ', ',
d	Applied to 2014 distributable amount	1:15/68/68			200,248
е	Remaining amount distributed out of corpus				34425° D
5	Excess distributions carryover applied to 2014	5,730		1 31733 8 110	5,730
	(If an amount appears in column (d), the same				
_	amount must be shown in column (a).)				
6	Enter the net total of each column as indicated below:				
_		<u> </u>			
a	Corpus. Add lines 3f, 4c, and 4e. Subtract line 5	38,980	1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -		
b	Prior years' undistributed income. Subtract line 4b from line 2b				
		20 6 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8			
С	Enter the amount of prior years' undistributed				
	income for which a notice of deficiency has been issued, or on which the section 4942(a)				
	tax has been previously assessed				* 5% 4 %
А	Subtract line 6c from line 6b. Taxable	- 1988A - 24 828A344 : 4		\$40.000 \$40.000	1 / 4
_	amount—see instructions				
_	Undistributed income for 2013. Subtract line			Miliar K. C. S. C. S.	
·	4a from line 2a. Taxable amount—see				
	instructions				
f	Undistributed income for 2014. Subtract lines	7 7 7 8 8 9 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	MIMA: ATTAK	100	
•	4d and 5 from line 1. This amount must be				
	distributed in 2015		300		^
7	Amounts treated as distributions out of corpus	······································	(4) / ·		
	to satisfy requirements imposed by section			,	
	170(b)(1)(F) or 4942(g)(3) (Election may be			31 S	
	required—see instructions)				
8	Excess distributions carryover from 2009 not		š		***
	applied on line 5 or line 7 (see instructions) .	17,391	,		
9	Excess distributions carryover to 2015.				, ,
	Subtract lines 7 and 8 from line 6a	21,589		1	
10	Analysis of line 9:	,			. /
а	Excess from 2010 2,886				
b	Excess from 2011				
С	Excess from 2012 3,073	;	13 × 14		X.
d	Excess from 2013 0		13	ý	7
e	Excess from 2014 0	<u></u>			

Form 99	0-PF (2014)					Page 10
Part :	XIV Private Operating Founda	tions (see instru	ctions and Part	VII-A, question 9)	
1a	If the foundation has received a ruling	or determination	letter that it is a	private operating	· · · · · · · · · · · · · · · · · · ·	
	foundation, and the ruling is effective for	2014, enter the da	ate of the ruling .	▶ [
, p	Check box to indicate whether the four	ndation is a private	operating founda	tion described in se	ction 🗌 4942(j)	(3) or 4942(j)(5)
2a	Enter the lesser of the adjusted net	Tax year		Prior 3 years		(e) Total
	income from Part I or the minimum investment return from Part X for each year listed	(a) 2014	(b) 2013	(c) 2012	(d) 2011	(c) Total
b	85% of line 2a					
С	Qualifying distributions from Part XII, line 4 for each year listed					
d	Amounts included in line 2c not used directly for active conduct of exempt activities					
e	Qualifying distributions made directly for active conduct of exempt activities. Subtract line 2d from line 2c					
3	Complete 3a, b, or c for the alternative test relied upon:					_
а	"Assets" alternative test - enter:					
	(1) Value of all assets(2) Value of assets qualifying under section 4942(j)(3)(B)(i)					
b	"Endowment" alternative test—enter ² / ₃ of minimum investment return shown in Part X, line 6 for each year listed					
С	"Support" alternative test—enter					
	(1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)					
	(2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)					
	(3) Largest amount of support from an exempt organization					
	(4) Gross investment income					
Part	XV Supplementary Information	on (Complete th	nis part only if t	he foundation h	ad \$5,000 or m	ore in assets at
	any time during the year-	-see instructio	าร.)			
1 a NONE	Information Regarding Foundation List any managers of the foundation of the close of any tax year (but of	who have contribi				by the foundation
b	List any managers of the foundation ownership of a partnership or other el			•		arge portion of the
NONE						
2	Information Regarding Contribution Check here ▶ ☐ If the foundation unsolicited requests for funds. If the to other conditions, complete items 2a,	only makes cont oundation makes	nbutions to prese	elected chantable of	_	•
а	The name, address, and telephone nu	ımber or e-mail ad	ddress of the pers	on to whom applica	ations should be	addressed:
MARIL	YN FABER 281 FREMONT STREET	UPLAND, CA 91784	909-982-6008	<u> </u>		
	The form in which applications should			materials they sho	uld include:	
<u>FORM</u>	TER EXPLAINING THE CHARITABLE PUR AVAILABLE UPON REQUEST FROM ABOVE OF THE PROPERTY OF THE PURPOSE OF THE PURPO		PROJECT INFO, C	OMPLETED GRANT	REQUEST FORM.	
	Any submission deadlines:	DTEMBED OF FAC	U VEAD			
	ESTS ARE REVIEWED IN APRIL AND SET Any restrictions or limitations on av			reas, chantable fie	elds, kinds of ins	stitutions, or other

THE REQUEST MUST BE CONSISTANT WITH THE MISSION STATEMENT OF THE FOUNDATIONSEE ATTACHED

Part	XV Supplementary Information (conti	nued)			
3	Grants and Contributions Paid During t	he Year or Approv	ed for Fu	ture Payment	-
	Recipient	If recipient is an individual, show any relationship to	Foundation status of	Purpose of grant or contribution	Amount
	Name and address (home or business)	any foundation manager or substantial contributor	recipient	CONTRIBUTION	
а	Paid dunng the year				
SEE A	TTACHED SCHEDULE				
			l		
	Total	· · · · · · · · · · · · · · · · · · ·	· · · ·	▶ 3a	
-	reproved for fatare payment				
	Total			▶ 3b	

rar	Analysis of income-Producing Ac	riairie2				
nter	gross amounts unless otherwise indicated.	Unrelated bu	isiness income	Excluded by sect	ion 512, 513, or 514	(0)
						(e) Related or exempt
		(a)	(b)	(c)	(d)	function income
4	Drogram congo revenue	Business code	Amount	Exclusion code	Amount	(See instructions.)
	Program service revenue:					
	a 			. 		
	b					
	c					
	d i					
	e					
	•			 		
	'					
	g Fees and contracts from government agencies					
2	Membership dues and assessments					
3	Interest on savings and temporary cash investments				· —	
4	Dividends and interest from securities			14	102,378	
	Net rental income or (loss) from real estate:		eren o	18 350	102,070	
•		<u> </u>	9 3			
	a Debt-financed property	_				
	b Not debt-financed property					
6	Net rental income or (loss) from personal property					
7	Other investment income					
	Gain or (loss) from sales of assets other than inventory			18	(1,642)	
	-			10	(1,042)	<u>-</u>
	Net income or (loss) from special events					
	Gross profit or (loss) from sales of inventory					
11	Other revenue: a					
	b		•			
	d			 		
	u			 	- · - - -	
	e	.a. #7 30.302		A Charge I William		
12	Subtotal. Add columns (b), (d), and (e)	224 1968			100,736	
13					. 13	100,736
13	Total. Add line 12, columns (b), (d), and (e) worksheet in line 13 instructions to verify calculations				. 13	100,736
13 See	worksheet in line 13 instructions to verify calculation	s.)			. 13	100,736
13 See Par	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculations TXVI-B Relationship of Activities to the A No. Explain below how each activity for which	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		mportantly to the
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		
13 See Par Line	worksheet in line 13 instructions to verify calculation TXVI-B Relationship of Activities to the A	s.) ccomplishm	ent of Exemp	ot Purposes		

Part	ΧVII		n Regarding Trar ganizations	sfers To and Trans	actions and I	Relationships \	Vith Noncha	ritabl	е	
1	ın sec	ne organization detion 501(c) of the	lirectly or indirectly	engage in any of the fo section 501(c)(3) organ				* •	Yes	No
	organizations?								*\$2	
а	Transfers from the reporting foundation to a noncharitable exempt organization of: (1) Cash							4 (4)		لبِ
								1a(1)		√
b	` '	ther assets . transactions:						1a(2)		<u> </u>
D			a noncharitable exe	mnt organization				15/1)	<u> </u>	
								1b(1) 1b(2)		-
	(2) Purchases of assets from a noncharitable exempt organization						1b(2)		-	
	(3) Rental of facilities, equipment, or other assets						1b(4)			
		oans or loan gua						1b(5)		
		_		nip or fundraising solicit				1b(6)		<u> </u>
С				sts, other assets, or pai				1c		<u> </u>
ď				s," complete the follow			 Id always shov		fair m	
_				ces given by the report						
				ement, show in column						
(a) Line	e no (b) Amount involved	(c) Name of noncl	nantable exempt organization	(d) Desc	nption of transfers, tra	nsactions, and sha	ring arra	алдет	ents
	\rightarrow									
			41 1 11 11 1	211 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1						
2a	is the	toundation dire	ectly or indirectly at 501(c) of the Code (c	filiated with, or related other than section 501(to, one or mo	re tax-exempt or on 5272	ganizations	7 V	. [7]	NI
h			following schedule		5)(6)) 61 111 6661	011 027		J res	· [4]	NO
		(a) Name of organ	<u>_</u>	(b) Type of organ	uzation	(c) De	escription of relation	nshin		
		(a) maine or organi		(2) 1) po 01 01 gui		(0, 5.				
		· .								
										
	Unde	r penalties of perjury, I	declare that I have examin	ed this return, including accomp	anying schedules an	d statements, and to the	best of my knowled	lge and	belief, it	is true,
Sign	corre	ot, and complete. Decl	aration of preparer (other th	n taxpayer) is based on all information of which preparer has any kno			May the If	RS discu	ıss this	return
Here		Town 5	X ald	TREAS 5 11 15	TREASURE	R/DIRECTOR	With the preparer s			below
_		ature of officer or trus	stee	Date	Title		(see instru	cuons)?	⊔ res	⊔ио
Paid	•	Print/Type preparer	's name	Preparer's signature		Date	Check rf F	TIN		
Prep	arer						self-employed			
Use		Firm's name ▶				Firm	's EIN ▶			
	y	Firm's address ▶				Pho	ne no			

Part I Line 18 Detail

Foreign taxes paid Michigan Annual Report	\$ 2,719.06 \$ 20.00		
	\$ 2,739.06		
Federal Excise Tax	<u>\$ 4,377 00</u>		
	\$ 7,116.06		

Form 990-PF	Tax Year 2014
-------------	---------------

P J and Mary Zondervan Foundation

Tax ID # 38-2411884

BEGINNING OF THE YEAR

<u>Face</u>	
Value	

Cost

Part II Line 2 Detail

Money Market

423,805.72

Part II Line 10 a Detail

San Marcos Ca Pub Facs Auth			
Grand Rapids Kent Cty Bldg			

10000 99 77 10000 67 91 9,977.38 6,791.00

Total Cost

16,768.38

BEGINNIN	IG OF THE YEAR	<u>Face</u>		
		<u>Value</u>	-	Cost
Part II Lin	e 10 b Detail			
Other				
	Amerigas (APU)	500	23 44	11,720.00
	Alliance Global High Incom Fund	1984	11 73	24,607.92
	Enerplus Resources	200	21 67	4,334.00
	Ferrelgas Partners (FGP)	500	21 54	10,770.00
	ING Groep Perp 7.2%	500	20.78	10,390 00
	ING Groep Perp 6.2%	400	18.23	7,292 00
	Senior Housing Trust	400	21.10	8,440 00
	SPDR Gold Trust	50 7000	94 60	4,730 00
	Templeton Global	7600	7.72	58,762 00
	Williams Pipeline Partners	551	40 84	22,501 67
				163,547.59
Mutua	al Funds			
	Invesco Corp Bond	815.981	6.28	5,120 54
	Artisan Intl Value Investor	2950.218	28.93	86,465.81
	Europacific Growth	121.89	35.19	4,289.31
	Fundemental Investors	267.498	29.72	7,950 04
	Franklin Utilities	5315.358	14 23	75,637 55
				179,463.25
Stock	S			
	AFLAC	1500	43.79	65,685 51
	Abbott Labs	1000	19 92	19,917 03
	Abbvie, Inc	1000	21 60	21,598 32
	Adelphia Recovery Trust	9768	0 00	9.76
	AEGON NV	2540	15 21	38,625.92
	ARES Capital	487 275	89.47 67.10	43,571.61
	Alliance Resource Partners Apollo Goup	275 1125	67.10 12.75	18,453.87
	Automatic Data Proc	500	38.40	14,346.67 19,200.00
	BHP Billiton Limited ADR	300	72 18	21,654.99
	Baxter Intl, Inc.	400	54 88	21,952.00
	Berkshire Hathaway		106950 00	106,950.00
	Canadian Natural Resources	400	30 81	12,322.00
	Cardinal Health	1000	39 21	39,207.13
	Carefusion Corp	500	39 21	19,603 56
	China Mobile	1600	8 52	13,636 00
	Coca-Cola Company	600	33 09	19,855 27
	Conoco Phillips	100	34 01	3,401.31
	Donnelley (R R.) & Sons	2000	18.20	36,392 35
	Du Pont	1200	42.77	51,319 78
	Eastman Chemical	2000	21.97	43,931.88
	Eaton Corp	800	51.66	41,324.00
	Emerson Electric	500	37.56	18,780.00
	Exelis, Inc	350	13 08	4,579.09
	Exxon Mobil Corp	300	88 17	26,450 57
	General Electric	1600	33 00	52,806 58
	Home Depot	1000	21 15	21,152 99
	Humana ITT Corp	1000 175	9.24	9,242.56
	ITT Corp Intel	175 2700	21.56	3,773 23
	IIICI	2100	24.46	66,049 00

BEGINNING OF THE YEAR	<u>Face</u>		
	<u>Value</u>	,	Cost
· IBM	200	127.24	25,448 00
International Paper Co	750	26.90	20,174 88
Johnson & Johnson	1000	55.97	55,968 31
Kellogg Company	375	55.23	20,712.21
Koninklıjke/Philips Elec	950	25 30	24,031.59
Lockheed Martin Corp	250	81 01	20,253 41
Magna International	500	45 40	22,697.50
Medtronic	400	46 04	18,417.00
Nabors Industries	200	17 53	3,506 00
New York Comm Bancorp	2000	22 76	45,974.56
Northrup Grumman	300	64 96	19,487.47
Norvartis AG	325	61 20	19,889 45
PartnerRe LTD	1000	49 09	49,093.06
Paychex	1400	37 24	52,129.01
Pengrowth Energy Trust	220	8 32	1,830.40
Royal Bank Of Canada	400	46 86	18,744.00
Royal Dutch Shell	400	51.91	20,764.00
Sanofi-Aventis	550	36.89	20,292 19
Southwest Airlines	2055	12.57	25,824 00
Stryker Corp	1000	45 32	45,321 94
Sysco Corp	700	25.50	17,848 00
Taiwan Semiconducter	5074	11 35	57,582 05
Thomson Reuters Corp	550	37 19	20,453.45
Time Warner Cable	67	49 23	9,894 24
Total S A ADR	500	48 87	24,435 50
Total System Services	967	30.08	29,087 13
Tractor Supply Company	650	30.56	19,862.15
Union Pacific Corp	200	100.30	20,060.22
United Parcel Service	1000	78 01	78,014.34
UnitedHealth Corp	1200	50 31	60,376.22
Walgreen	1400	43 41	60,767.98
Waste Management	600	30 14	18,083 00
Wells Fargo	2500	33 22	83,058 33
Wisconsin Energy Corp	650	31.07	20,196 50
Xılinx	900	20.89	18,804.03
Xylem, Inc	350	32.43	11,351.16
Zimmer Holdings	800	78 17	62,537.46
			2,018,763.71
Total Securities			2,361,774.55
Part II Line 10 c Detail			
Bonds			
Adelphia Communication	10000		-
Anheuser Busch	10000	92 22	9,221 80
Conoco Philips Bond	20000	108 99	21,798 80
·			
Coca-Cola Bond	20000	113 14	22,628.40
Total Cost			53,649.00
-			

Total Assets 2,855,997.65

Form 990-PF Tax Year 2014

P J and Mary Zondervan Foundation

Tax ID # 38-2411884

Face
Value
Cost
Market
(Loss)

324,607.28

324,607.28

` Money Market

-		
Form 990-PF Tax Year 2014	P J and Mary Zondervan Foundation	Tax ID # 38-2411884
ر تعد≰ ج	·	
E THE VEAR	Face	Gair

END OF THE YEAR		<u>Face</u> Value		Cost		Market	<u>Gain</u> (Loss)
Part II Line	e 10 a Detail		_				<u></u>
	Grand Rapids Kent Cty Bldg	10000	67.91	6,791.00	93 14	9,313 60	2,522.60
	Total Cost			6,791.00		9,313.60	2,522.60
Part II Lin	e 10 b Detail						
Other							
	Amerigas (APU)	500	19.96	9,980.00	47 92	23,960.00	13,980.00
	Alliance Global High Incom Fund	1984	12.40	24,607.92	12 43	24,661.12	53 20
	Enerplus Resources	200	21.67	4,334 00	9 60	1,920.00	(2,414.00)
	Ferrelgas Partners (FGP)	500	19 54	9,770 00	21.98	10,990 00	1,220 00
	ING Groep Perp 7.2%	500 400	20 78 18 23	10,390 00 7,292.00	25 75 25.24	12,875 00 10,096 00	2,485 00 2,804 00
	ING Groep Perp 6 2% Senior Housing Trust	400	21.10	8,440.00	23.24	8,844 00	404.00
	SPDR Gold Trust	50	94.60	4,730.00	113.58	5,679 00	949 00
	Templeton Global	7600	7.73	58,762 00	7 19	54,644 00	(4,118 00)
	Williams Pipeline Partners	551	37.20	20,494 93	44.75	24,657.25	4,162 32
				158,800.85		178,326.37	19,525.52
Mutua	al Funds						
	Invesco Corp Bond	815 981	6 28	5,120 54	7 28	5,940.34	819.80
	Artısan Intl Value Investor	3105.37	29 57	91,815 44	34 21	106,234.71	14,419.27
	Europacific Growth	121.89	35 19	4,289.31	47 13	5,744.68	1,455 37
	Fundemental Investors	267.498	29.72	7,950.04	52.06	13,925.95	5,975 91
	Franklın Utılities	5315 358	14.23	75,637.55	17.75	94,347.60	18,710 05
				184,812.88		226,193.28	41,380.40
Stock	S						
	AFLAC	1500	43.79	65,685 51	61.09	91,635 00	25,949.49
	Abbott Labs	1000	19.92	19,917.03	45 02	45,020 00	25,102.97
	Abbvie, Inc	1000	21.60	21,598.32	65 44	65,440 00	43,841 68
	Adelphia Recovery Trust	9768 2540	0 00	9.76	0 00 7.50	23.44	13 68
	AEGON NV ARES Capital	487	15.21 89.47	38,625 92 43,571.61	7.50 15.61	19,050.00 7,599.64	1,075 25 (35,971 98)
	Alliance Resource Partners	550	31.08	17,093.99	43 05	23,677.50	6,583.51
	Apollo Goup	1125	12 75	14,346.67	34 11	38,373 75	24,027.08
	Automatic Data Proc	500	33 55	16,773 12	83 37	41,685 00	24,911.88
	BHP Billiton Limited ADR	300	72.18	21,654 99	47.32	14,196.00	(7,458 99)
	Baxter Intl, Inc	400	54.88	21,952.00	73.29	29,316.00	7,364 00
	Berkshire Hathaway	100	1069 50	106,950.00	2,260 00	226,000.00	119,050 00
	CDK Global	166	14 56	2,417 17	40 76	6,766 16	4,348.99
	Canadian Natural Resources	400	30.81	12,322.00	30 88	12,352 00	30.00
	Cardinal Health Carefusion Corp	1000 500	39.21 39.21	39,207.13 19,603.56	80.73 59.34	80,730.00 29,670.00	41,522.87 10,066.44
	China Mobile	1600	8 52	13,636 00	58 82	94,112 00	80,476 00
	Coca-Cola Company	600	33 09	19,855.27	42 22	25,332 00	5,476 73
	Conoco Phillips	100	34.01	3,401.31	69.06	6,906.00	3,504 69
	Donnelley (R.R) & Sons	2000	18.20	36,392.35	16.81	33,610.00	(2,782.35)
	Du Pont	1200	42 77	51,319 78	73 94	88,728.00	37,408.22
	Eastman Chemical	2000	21 97	43,931.88	75 86	151,720 00	107,788 12
	Eaton Corp	800	51.66	41,324.00	67 96	54,368.00	13,044 00
	Emerson Electric	500	37.56 42.27	18,780 00	61.73	30,865.00	12,085 00
	Exelis, Inc	350 300	12 27 88.17	4,293.78 26,450.57	17.53 92 45	6,135.50 27,735 00	1,841 72 1,284.43
	Exxon Mobil Corp General Electric	1600	33.00	52,806.58	92 45 25 27	40,432 00	(12,374.58)
	Home Depot	1000	21.15	21,152 99	104.97	104,970.00	83,817 01
	•			. –		,	•

	g βear y						
END OF TH	HE YEAR	<u>Face</u>					<u>Gain</u>
		<u>Value</u>		Cost		<u>Market</u>	<u>(Loss)</u>
	Humana	1000	9 24	9,242 56	143 63	143,630 00	134,387 44
	ITT Corp	175	21 56	3,773 23	40 46	7,080 50	3,307 27
	Intel	2700	24 46	66,049.00	36 29	97,983.00	31,934 00
·	IBM	200	127 24	25,448.00	160 44	32,088.00	6,640.00
	International Paper Co	750	26.52	19,889.41	53 58	40,185.00	20,295 59
	Johnson & Johnson	1000	55.97	55,968.31	104 57	104,570.00	48,601 69
	Kellogg Company	375	55.23	20,712.21	65 44	24,540.00	3,827.79
	Koninklıjke/Philips Elec	950	25.30	24,031.59	29 00	27,550.00	3,518.41
	Lockheed Martin Corp	250	81.01	20,253 41	192.57	48,142 50	27,889.09
	Magna International	500	45 40	22,697 50	108.69	54,345.00	31,647 50
	Medtronic	400	46 04	18,417.00	72 20	28,880 00	10,463 00
	Nabors Industries	200	17.53	3,506.00	12.98	2,596 00	(910.00)
	New York Comm. Bancorp	2000	22.99	45,974.56	16 00	32,000 00	(13,974.56)
	Northrup Grumman	300	64.96	19,487.47	147.39	44,217 00	24,729.53
	Norvartis AG	325	61.20	19,889 45	92 66	30,114.50	10,225.05
	PartnerRe LTD	1000	49 09	49,093 06	114.13	114,130.00	65,036.94
	Paychex	1400	37 24	52,129 01	46.17	64,638.00	12,508.99
	Pengrowth Energy Trust	220	8 32	1,830 40	3.11	684.20	(1,146.20)
	Royal Bank Of Canada	400	46 86	18,744 00	69.07	27,628 00	8,884.00
	Royal Dutch Shell	400	51.91	20,764.00	66 95	26,780 00	6,016.00
	Sanofi-Aventis	550	36.89	20,292.19	45 61	25,085 50	4,793.31
	Southwest Airlines	2055	12.57	25,824 00	42.32	86,967 60	61,143 60
	Stryker Corp	1000	45 32	45,321 94	94.33	94,330 00	49,008 06
	Sysco Corp	700	25.50	17,848 00	39.69	27,783.00	9,935.00
	Taiwan Semiconducter	5074	11.35	57,582.05	22.38	113,556.12	55,974.07
	Thomson Reuters Corp	550	37.19	20,453.45	40 34	22,187.00	1,733.55
	Time Warner Cable	67	147.68	9,894.24	152 06	10,188 02	293.78
	Total S A ADR	500	48 87	24,435 50	51.20	25,600 00	1,164.50
	Total System Services	967	30.08	29,087 13	33.96	32,839.32	3,752 19
	Tractor Supply Company	650	30.56	19,862.15	78.82	51,233 00	31,370.85
	Union Pacific Corp	400 1000	50.15	20,060.22	119.13	47,652.00	27,591 78
	United Parcel Service		78.01	78,014.34	111 17	111,170.00	33,155 66
	UnitedHealth Corp	1200 19	50 31 14 67	60,376 22 278 78	101 09 27.40	121,308 00 520 60	60,931 78
	Vectrus Inc Veritiv Corp	14	19.91	278.74	51.87	726 18	241.82 447.44
	Walgreens Boots	1400	43.41	60,767.98	76 20	106,680.00	45,912.02
	Waste Management	600	30 14	18,083 00	51 32	30,792.00	12,709.00
	Wells Fargo	2500	33 22	83,058 33	54.82	137,050.00	53,991 67
	Wisconsin Energy Corp	650	31 07	20,196.50	52.74	34,281 00	14,084 50
	Xilinx	900	20 89	18,804.03	43.29	38,961 00	20,156 97
	Xylem, Inc	350	32.43	11,351.16	38 07	13,324.50	1,973 34
	Zımmer Holdings	800	78.17	62,537 46	113 42	90,736.00	28,198.54
	Ziminer Holdings	000	70.17	02,007 40	110 42	00,100.00	20,100.04
				2,017,380.87		3,571,200.53	1,574,470.83
Total \$	Securities			2,360,994.60		3,975,720.17	1,635,376.75
Part II Line 10 c Detail							
Bonds	S						
	Adelphia Communication	10000		-	0.01	75.00	75 00
	Anheuser Busch	10000	92 22	9,221 80	108.15	10,815.10	1,593 30
	Coca-Cola Bond	20000	113.14	22,628 40	110 89	22,178 26	(450.14)
	Total Cost			31,850.20		33,068.36	1,143.16
Total	Assets			2,724,243.08		4,342,709.41	1,639,042.51

Part IV Capital Gains and Losses for Tax on Investment Income

	哥
	(b)
	(e)
	Shares
	Ð
	<u>(</u>
	a
Short-Term	<u>(a)</u>

	⊢ i	OTAL SHO	TOTAL SHORT TERM GAIN(LOSS)	AIN(LOSS)		ı	ı	ı
Long-Term								
(a)	q	<u></u>	Ð	Shares		(e)	(b)	(J
Veritiv Corp		6/16/2011	7/10/2014	0.338	35 95	12.15	6.73	5 42
San Marcos Ca Pub Facs Auth		11/2/2009	8/1/2014	10000	1.00	10,000 00	9,977.38	22.62
Vectrus Inc		6/16/2011	10/3/2014	0.445	21.82	9.71	6.52	3.19
CDK Global		10/8/2008		0 667	28.58	19.06	9 7 1	9 35
Conoco Philips Bond		1/27/2010 1		20000	1.01	20,115.85	21,798 80	(1,682.95)
					#DIV/0!			•
					#DIV/0i			•
					#DIV/0i			•
					#DIV/0i			,
					#DIV/0I			•
					#DIV/0			•
	⊢l	OTAL LON	TOTAL LONG TERM GAIN(LOSS)	IN(LOSS)		30,156 77	31,799 14	(1,642 37)
	-	OTAL CAP	TOTAL CAPITAL GAIN(LOSS)	.0SS)		30,156 77	31,799 14	(1,642.37)

SCHEDULE for Part VII	I
Form 990-PF LINE 1	

(a) Dr Robert Zondervan 706 W. 10th Street Claremont, CA 91711	(b) Pres - Dir 1hr Per Wk	(c) \$2,000 00	(d) -0-	(e) -0-
Mary Beth Schouten 752 Bragg Hill Norwich, VT 05055	Dir 1hr. Per Wk	\$2,000 00	-0-	-0-
Thomas B Kladder 7140 Camino Del Rey Dr NE Rockford, MI 49341	Treas - Dir. 7hr. Per Wk.	\$17,000 00	-0-	-0-
Norman Pylman 1666 Tammarron Grand Rapids, MI 49546	Dir. 1hr. Per Wk.	\$2,000 00	-0-	-0-
Marilyn Faber 281 Fremont Street Upland, CA 91784	Sect Dir 2hr. Per Wk.	\$1,000 00	-0-	-0-

Schedule For Part XV Form 990-PF Grants Paid

RECIPIENT	PURPOSE		<u>AMOUNT</u>
Americans Caring Sharing Teaching 2330 Gove Hill Road	For health and Development teaching materials		\$5,000 00
Thetford, VT 05075			
Calvin Theological Seminary	College Seminary PhD Chair		\$116,700 00
3233 Burton SE			
Grand Rapids, MI			
Crossroads, Inc.	Women's Social Enterprise		\$5,000.00
250 W First St. Suite 254	Training Programs		•
Claremont, CA 91711			
Every Generation Ministry	Youth Summer Programs		\$5,000.00
PO BOX 891179	Training		
Temecula, CA 92589	ŭ		
Forgotten Man Ministries	Outreach Ministry providing		\$2,500.00
3940 Fruitridge NW	overnight rooms and food		• •
Grand Rapids, MI 49544	•		
Gideons International	Bible Placement Ministry		\$2,000.00
PO Box 140800	•		•
Nashville, TN 37214			
Health Intervention Sertvices	Poverty Dental Program		\$12,500 00
15 Andre SE	-		
Grand Rapids, MI 49507			
International Christian Community Development	English Language Tranıng		\$5,000 00
15 Andre SE	Materials		
Grand Rapids, MI 49507			
Oasis Of Hope	Poverty Medical Care		\$12,000 00
522 Leonard St NW	Programs		
Grand Rapids, MI 49504			
Potter's House	Educational Materials for		\$10,000.00
810 Van Raalte SW	Learning Stations		
Grand Rapids, MI 49509-1149			
Pregnancy Resource Center	Family Support and		\$5,000.00
415 Cherry St SE	Post Adoption Services		
Grand Rapids, MI 49503			
Vessel Ministries	Educational Materials		\$5,000.00
5713 N East 62nd Circle	For Africa Discileship		
Vancover, WA 98661			
Volunteers In Service	Volunteer and Poverty		\$5,000 00
PO BOX 8215	Aid Network programs		
Grand Rapids, Michigan 49518			
	Total	3a	\$190,700.00

NO RECIPIENT IS AN INDIVIDUAL OR A FOUNDATION